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Eaton 9PX 1000 (100% = 1000 VA / 1000 W)
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actual runtime may vary from +/- 15% around these typical
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Eaton 9PX 1000 + EBM (100% = 1000 VA / 1000 W)

0O 1000 + 1 EBM =@=1000 + 2 EBM ====1000 + 3 EBM =>e=1000 + 4 EBM

actual runtime may vary from +/- 15% around these typical values
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Eaton 9PX 1500 (100% = 1500 VA / 1500 W)
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actual runtime may vary from +/- 15% around these typical
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Eaton 9PX 1500 + EBM (100% = 1500 VA / 1500 W)
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‘ O 1500 + 1 EBM =@=1500 + 2 EBM ====1500 + 3 EBM =>e=1500 + 4 EBM Load (VA or W) in %

actual runtime may vary from +/- 15% around these typical values



Backup time in mIn
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Eaton 9PX 2200 (100% = 2200 VA / 2200 W)
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actual runtime may vary from +/- 15% around these typical
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Eaton 9PX 2200 + EBM (100% = 2200 VA / 2200 W)
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O 2200 + 1 EBM —8=2200 + 2 EBM “~#=2200 + 3 EBM ==2200 + 4 EBM Load (VA or W) in %

actual runtime may vary from +/- 15% around these typical values
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Eaton 9PX 3000 (100% = 3000 VA / 3000 W)
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actual runtime may vary from +/- 15% around these typical values
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Eaton 9PX 3000 + EBM (100% = 3000 VA / 3000 W)
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0O 3000 + 1 EBM =@=3000 + 2 EBM ====3000 + 3 EBM =>e=3000 + 4 EBM

actual runtime may vary from +/- 15% around these typical values
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